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I Answer all questions (fo xl=iO)

1. Elementary transformation do not change the order and also the

2. of a matrix is interchanging rows and columns

3. When the system of equations has a solution it is said to be

4. A square matrix A and its trans pose have the same

5. A homogenous polynomial of the second degree in any number of variables is

called

6. Define J 0^)
7. / sin(2x + 3) lafcc =

8. P(m, n) = p (n, m) (True /False)

9. State Cayley Hamilton theorem

10.Define inverse of a matrix

IT Write answers on any FIVE questions ( 5 x 2=10)

/2 6 5 \

I. Reduce (2 5 4 ) to an equivalent upper triangular matrix through row
\5 16 13/

transformation

2. If the rank of

2  1 -r

1 4 2

L3 5 k.

is 2. Find the value of k

3. Test for the consistency of x -y + 2z = 2, 2x -f y+4zp7, 4x- y+ z=4

4. Define Eigen values of a matrix

5. When two matrices are said to be similar? Give a property of similar matrices

6. Define curvature and radius of curvature

7. Evaluate dx dy



j  Ij ^ i ■ /'ill ' "v : r

^  1 j in Write the answer of any FIVE questions (5 x 4=20)
1. Show that the vectors (2,3#0) ,(1,2,0) and (8,13,0) are linearly dependent

2. Find the non -trivial solution of the equation x+ 2y + 3z=0,3x+ 4y + 4z =0,

7x+10 y + llz =0 if it exists

3. How the nature of the quadratic form can be detennined without reducing to

cannonical form

/  2 , / 24. If u = f(x,>') where x = rco50and y = Tsin6,find ( ̂) ̂

I

i  ,,^3

I '

•f •

f  ' t

5. Using Taylors series, verify that log ( 1+ x+ y) = x + y - ^ (x + y)^ + ̂ (x +

y)-
I  1-2. \-3-2_

6. Evaluate / / / xyzdxdydz
o  0 0

7. Find the area between the circle x^ +y2=a^ and the line x + y =a lying in the first

quadrant ,by double integration

IV Write the answer of any ONE (1x10=10)

/2 0 -1\

1, Verify cay ley -Hamilton theorem for the matrix I 0 2 0 1 and hence find
\1 0 2 /

A~^ and

2, Evaluate f f f dx dy dz, where v is the finite region of the space (tetra ̂ edron) formed

V

by the planes x=0, y= 0, z=0 and 2x + 3y + 4z =12




